Chap. 16 - Jan. 17 Sllde #21

Consider the reaction, 2 NO(g) + c|2(g) N 2 NO
The rate law is: R = k[NO]™[CI]"

‘Use the initial rate data below to'd_et'ermwine m,n and k

Expt. . [NO],  [CL] R

o]

#1001 M 0.02M 410x10° Ms
# 004  0.02 6.56x10"
#3001 006 1. 23x1o"4
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Consider a Second Order reaction, A — Products.

The initial concentration of [A] is 0.50 M, and the concentration
decreases to 0.30 M after 150 s. Calculate the following quantities:
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Consider a Second Order reaction, A — Products.

The initial concentration of [A] is 0.50 M, and the concentration
decreases to 0.30 M after 150 s. Calculate the following quantities:

(B) The concentrat|on [A]t after 250s
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Consider a Second Order reaction, A — Products.

The initial concentration of [A] is 0.50 M, and the concentration
decreases to 0.30 M after 150 s. Calculate the following quantities;

(C) The time it takes to for the concentration to decrease from
[Alot0 0.10 M '
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